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Section Id : 913943311

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 43

Number of Questionsto be attempted: 43

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9139431264
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 91394323683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 1 Question Id : 91394323683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 2 Question Id : 91394323684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 2 Question Id : 91394323684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 3 Question Id : 91394323685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 3 Question Id : 91394323685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 4 Question Id : 91394323686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 4 Question Id : 91394323686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 5 Question Id : 91394323687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 5 Question Id : 91394323687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 6 Question Id : 91394323688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 6 Question Id : 91394323688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 7 Question Id : 91394323689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 7 Question Id : 91394323689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 8 Question Id : 91394323690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 8 Question Id : 91394323690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 9 Question Id : 91394323691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 9 Question Id : 91394323691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 10 Question Id : 91394323692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 10 Question Id : 91394323692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Sub-Section Number: 2
Sub-Section 1d: 9139431265
Question Shuffling Allowed : Yes

Question Id : 91394323693 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Sub questions

Question Number : 11 Question Id : 91394323694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 12 Question Id : 91394323695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 13 Question Id : 91394323696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 14 Question Id : 91394323697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 15 Question Id : 91394323698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Id : 91394323693 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Sub questions

Question Number : 11 Question Id : 91394323694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 12 Question Id : 91394323695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 13 Question Id : 91394323696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 14 Question Id : 91394323697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 15 Question Id : 91394323698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Sub-Section Number: 3
Sub-Section Id: 9139431266

Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394323699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 16 Question Id : 91394323699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 17 Question Id : 91394323700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 17 Question Id : 91394323700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 18 Question Id : 91394323701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 18 Question Id : 91394323701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 19 Question Id : 91394323702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 19 Question Id : 91394323702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 20 Question Id : 91394323703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 20 Question Id : 91394323703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 21 Question Id : 91394323704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 21 Question Id : 91394323704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 22 Question Id : 91394323705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

B913345393085.
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2153942930856,

-2

215334233087,

913345393088,

Question Number : 22 Question Id : 91394323705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

2915334233085,

09

B913345393056.

IJ

B13345393087.

913345393088,

Question Number : 23 Question Id : 91394323706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 23 Question Id : 91394323706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 24 Question Id : 91394323707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 24 Question Id : 91394323707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 25 Question Id : 91394323708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 25 Question Id : 91394323708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 26 Question Id : 91394323709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 26 Question Id : 91394323709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 27 Question Id : 91394323710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 27 Question Id : 91394323710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 28 Question Id : 91394323711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 28 Question Id : 91394323711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 29 Question Id : 91394323712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 29 Question Id : 91394323712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 30 Question Id : 91394323713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 30 Question Id : 91394323713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Sub-Section Number: 4
Sub-Section 1d: 9139431267
Question Shuffling Allowed : Yes

Question Id : 91394323714 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension

Sub questions

Question Number : 31 Question Id : 91394323715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 32 Question Id : 91394323716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 33 Question Id : 91394323717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Id : 91394323714 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 33)
Juestion Label - Comprehension



Sub questions

Question Number : 31 Question Id : 91394323715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 32 Question Id : 91394323716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 33 Question Id : 91394323717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Sub-Section Number: 5
Sub-Section Id: 9139431268
Question Shuffling Allowed : Yes

Question Id : 91394323718 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cuesticon Label | Comprehiension



Sub questions

Question Number : 34 Question Id : 91394323719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 35 Question Id : 91394323720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Id : 91394323718 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (34 to 35)
Cuestion Label © Comprehension

Sub questions

Question Number : 34 Question Id : 91394323719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 35 Question Id : 91394323720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Sub-Section Number: 6
Sub-Section 1d: 9139431269
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394323721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 36 Question Id : 91394323721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 37 Question Id : 91394323722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 37 Question Id : 91394323722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 38 Question Id : 91394323723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 38 Question Id : 91394323723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 39 Question Id : 91394323724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 39 Question Id : 91394323724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 40 Question Id : 91394323725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 40 Question Id : 91394323725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 41 Question Id : 91394323726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 41 Question Id : 91394323726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 42 Question Id : 91394323727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 42 Question Id : 91394323727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 43 Question Id : 91394323728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 43 Question Id : 91394323728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 44 Question Id : 91394323729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 44 Question Id : 91394323729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 45 Question Id : 91394323730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 45 Question Id : 91394323730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 46 Question Id : 91394323731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 46 Question Id : 91394323731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 47 Question Id : 91394323732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 47 Question Id : 91394323732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 48 Question Id : 91394323733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 48 Question Id : 91394323733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 49 Question Id : 91394323734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 49 Question Id : 91394323734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 50 Question Id : 91394323735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 50 Question Id : 91394323735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Paper 1
Group Number : 2
Group Id: 913943312
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 200



0z Political science

Section Id : 913943312
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 9139431270
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394323736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
(a)—(iv), (b)~(iil), (e)(ii), (d)—(i)
91394393201,
(a)—(ii), (b)—(iv), (e)~(iid), (d)—(i)
91394393202,
(a)=(i), (b)—(iii), (e)=(ii), (d)~(iv)
91394393203,
(a)—(iid), (b)—(ii), (e)~(iv), (d)~(i)
91394393204

Question Number : 51 Question Id : 91394323736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In the two lists given below, List I provides the list of Kautilya’s organs of the State, while
List IT indicates the Organs of the human body. Match the two lists and choose the correct
answer from the code given below :

List I List 11
(Kautilya’s organs of the State) (Organs of the human body)
(a) Amatya (i) Mouth
(b) Suhrid (ii) Eyes
(e} Durga (iii) Arms
(d) Kosha (iv) Ears
Code:
Options:
(a)—iv), (b)—(iii), (e)ii), (d)—(D)
91394293201,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
21394293202,
(a)—(i), (b)—{iii), (e)—(ii), (d)~(iv)
91394392203,
(a)—(iii), (b)—(ii), (e)iv), (d)—(D)
913942933204,

Question Number : 52 Question Id : 91394323737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are the features of Plato’s theory of education 7

(i) It is a means of social righteousness and realisation of truth.

(ii) Elementary education begins at childhood up to the age of six.

(iii) The public test is held at the age of twenty.

(iv) At the age thirty, a second selective test is to take place.
Choose the correct answer from the code given below :

Code :

Options:

913345393205,

91334593206,

913345393207,

215334233208,

Only (i) and (ii)

Only (ii) and (iii)

Only (i), (iii) and (iv)

(1), (ii), (iii) and (iv)

Question Number : 52 Question Id : 91394323737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
e (i) 3 (i)
91394393205,
e (ii) 3 (i)
91394393206,

e (1), (iii) 3 (iv)
913943293207,

(1), (i), (iii) 3 (iv)
91394393208,

Question Number : 53 Question Id : 91394323738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Thomas Hobbes constructed his Political Philosophy on the basis of his postulates derived

from
Options:

Principles of Natural Science
91394293209,

91394393010, oual Science

Theol
Q91594292211 0By

Metaphysics
291394293212,

Question Number : 53 Question Id : 91394323738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B13345393210.

913345393211,

H1334539321%2.

Question Number : 54 Question Id : 91394323739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rousseau’s General Will means

Options:

91394393213, owalwil

91394393014 um total of wills
Majority will

91394393215

91394393216, oo

Question Number : 54 Question Id : 91394323739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

w41 i gy ea1 (I fae) #1992

Options:

qreafas g=a
91394393213,

=Bl I g
91394393214,

) _-—

91394393215, g

ere TeEt
91394393216,

Question Number : 55 Question Id : 91394323740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following firmly believed that periodic communitarian correction is required
because ‘Liberalism is a self-subverting doctrine’ 7

Options:



91394393217 oonn Rawls

91394393218,  Nozick

91394393219, T+ DWorkin

91394393220, & Walzer

Question Number : 55 Question Id : 91394323740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frefefiaa & & a7 fora g7 favamm o1 f smafiss safn-ogr & gum smaves & =it Sorfwm
Uk ATen-faeaas fagea’ & 7

Options:

91334593217, wH U

AR, Fiforh
91394393218,

91334593219,

UH, dleal
215394293220,

Question Number : 56 Question Id : 91394323741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following sought to establish the non-utilitarian proposition that some
pleasures are of a higher gquality than others ?

Options:

Priestley
91334333221,

91394393200, lutcheson

91394393223, - Dentham

91334593224, J.5. Mill

Question Number : 56 Question Id : 91394323741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefefiga & & fFa 5o Tamifimmardt +u= it wnfim £3 & v G & 3o o s 6t
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Options:

913345935221,

oA

B1334539322%2.

91394393223, §. s

E R
91394393224, «

Question Number : 57 Question Id : 91394323742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following described modern democracies as ‘Polyarchy’ ?

Options:

91394393005, David Easton

9139439320, Robert Dahl

Joseph Schumpeter
Q1394393227 P pe

S. Huntington
91394393228, gl

Question Number : 57 Question Id : 91394323742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frfafia & @ fore s dhda =1 avfs agd S e d R g 2

Options:

2fere S

913345393225,

e =8
91394393226,

St e

B1334593227

vy, gféea

91334593228,



Question Number : 58 Question Id : 91394323743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Authors, while List II indicates their
important concepts. Match the two lists and choose the correct answer from the code given
below :

List 1 List IT

(Authors) (Important concepts)
(a) John Rawls (i) Communitarian Perspective of Justice
(b) Robert Nozick (ii) Global Justice
(¢) Michael Walzer (iii) Distributive Justice

(d) Thomas Pogge (iv) Justice as Entitlement

Code :
Options:

(a)—iii), (b)~iv), (e)-(i), (d)—(ii)
913394393229.

(a)—i), (b)—(ii), (e)(iii), (d)iv)
913943323230

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91394393231,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234393232,

Question Number : 58 Question Id : 91394323743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hr= 5t gfeat € 78 8, gt 16 e, sl get 11§ 39t gl staamomd § | §9 g git &t
gifera $ifore oft A= fow o 2 = i w0 gu ad Iw R g
T 1 T I
(Frar) (vt srewomd)
(a) 9 Ted (i) =T = FHIEETE! gieeshi
(b) Tad Aif (i) afve =
(c) WTEhel ATewt (i) Teraromens =
(d) «twg dnt (iv) =T, UrAdl % ¥9 4§

®e:
Options:

(a)iii), (b)—(iv), (e)i), (d)—(ii)
91394333229,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394393230.



(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913343393231,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394393232,

Question Number : 59 Question Id : 91394323744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following writings of Lenin in the order in which they appeared :
(i)  Materialism and Empirio-Criticism
(i) Socialism and War
(iii) What Is To Be Done ?
(iv) The Development of Capitalism in Russia
Choose the correct answer from the code given below :
Code :
Options:

(1), (11), (i), (1v)
91334593233,

(iv), (1), (1), (i)
B12334593224.

(iii), (1), (ii), (iv)
91334593255,

(id), (iw), (iii), (1)
913345393536,

Question Number : 59 Question Id : 91394323744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wfm i Freafefiga et it 3% sy 89 % s o syafttm fifsm .
(i) Hfefrofass we wedife-Grfefsa

(i) Hrufersw we aw

(i) BEFALHASA?

(iv) T Sawad-e % Siefass 3 dm

Hr feu T g & | W I w9

% :

Options:

(1), (1), (1ii), (iv)
B1334593233.

(1w ), (iid), (1), (ii)
H1334593234.



(1ii), (1), (ii), (iv)
913345393535,

(i1), (iw), (i), (1)
91334593236,

Question Number : 60 Question Id : 91394323745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following said, “Political behaviour stands for both an intellectual tendency
and a concrete academic movement” 7

Options:

91394393237, v Dahl

9139439303g, A Almond
Arthur Bentley

91394393239,

91394393240, David Faston

Question Number : 60 Question Id : 91394323745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa & & == forae wum 3 “uifee sqaer # o wifgs wafy aon S deafie ariciem gl
L

Options:

HAT,
21394293237, o &

SR o
91394293238,
91394293239,

afae
913942933240,

Question Number : 61 Question Id : 91394323746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
John Rawls’s concept of ‘veil of ignorance’ does not imply to which of the following ?
Options:

No one knows his place in society
91334533241,



No one knows his class position or social status
91394333242,

91594393243, No one knows his fortune in the distribution of natural assets

Parties know their conception of good
91394393244,

Question Number : 61 Question Id : 91394323746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F19 el & ‘del A% g ot g = A9 Fefafaa dd w0 a8 2 2
Options:

HHTE § 391 T4 T8 A=
91394393241 R i

91394393242, Hig St 7l fef sropan wmafoh gl T

r(as qegit & faqon § wfess
91394393243, e o o el

Tl Ieh e i YN AT B
913943937244,

Question Number : 62 Question Id : 91394323747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Carlyle called Bentham’s utilitarian doctrine as ‘Pig philosophy’.
Reason (R) : To him happiness is much more than pleasure.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394333245,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294393246

(A) is true, but (R) is false.
913345393247,

(A) is falze, but (R) is true.
91294393248,



Question Number : 62 Question Id : 91394323747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
e *1 FE F T I g |

e (A) : Fetsa 4 995 % Ivatiararg) g =t g fagr’ a1 8 |
7% (R) : 35 aR ya=ar (&) a1g (toen) & dg & |

% :

Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394393245, g = b

(A) 3R (R) 3t @t €, T (R), (A) 1 Gt =t 7 2 |
91394393246,

(A) T &, T (R) Terd & |
91394393247,

(A) e 8, 9 (R) @Rt 2
Q12943292245

Question Number : 63 Question Id : 91394323748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : For Gandhiji, enlightened anarchy refers to a form of society which functions
without the coercive power of the State.

Reason (R) : Individuals have full control of themselves.

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
291394293249,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21394293250,
(A) is true, but (R) is false.
91394293251,
(A) is false, but (R) is true.
91394293252,

Question Number : 63 Question Id : 91394323748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |

Ffirme (A) - TSl % SER, Yag FTSHal 1 qread 369 FurA @ @ 5 vsa & g 9@ & fan
AT R |

7% (R) - safvral st 319 e ot Freaon ghan & |

H:
Options:

(A) # (R) q9T (R), (A) i Tt sgrean & |
91394393249, g e ¢

(A) 3R (R) ST vt &, T (R), (A) 1 Tt =amen 7 2 |
91394393250,

(A) T B, 9 (R) Tera 2 |
91394393251,

(A) TeTd B, 9 (R) T8 2 |
91394393252,

Question Number : 64 Question Id : 91394323749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following factors are responsible for the decline of political theory ?
() Historicism
(i)  Positivism
(iii) Moral relativism
(iv) Hyperfactualism
Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91294393253

Only (ii) and (iii)
91594393254

Only (i), (iii) and (iv)
91:94293255,

(1), (ii), (iii) and (iv)
91394392256,

Question Number : 64 Question Id : 91394323749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tertfas g & vaa % forg Freferfian & @ 198 s soErt § 2

(i) sfoemarg

(i) eIETaTg

(iii) e ATiEraTg

(iv) sfaaeaTeaharang

fr= e 2 # & @ I H g
%He :

Options:

91394393253, R (D) R )

91394393254, e (i) 3 (i)

A (1), (iii) 3 (iv)
91394393255,

(i), (iD), (iii) 3 (iv)
91394393256,

Question Number : 65 Question Id : 91394323750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For Aristotle, which of the following characteristics do not necessarily qualify to become an
Athenian citizen ?

(i) Residence in a particular place
(ii) The right of suing and being sued
(iii) Those who are disenfranchised or exiled

(iv) Descent from a citizen
Choose the correct answer from the code given below :

Code:

Options:

Only (i) and (ii)
913942393257,

Only (ii) and (iv)
91394393258,

Only (ii), (iii) and (iv)
91394393259

(i), (ii), (iii) and (iv)
91394393260,

Question Number : 65 Question Id : 91394323750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



310e o rgan Freafofiga 4 @ -t fagard vi=g 1 amifes 51 6 sravas wal w @ T8
el ?

(i) et fors wormar o Frameft

(i) &1 ser 3t ufardt a3 @ siftrwn

(iii) & ot gerrferer & afea a1 2w & Fraffia 2

(iv) Teredt amrfiers & T

= fom e %2 | & wE I g

AN

Options:

e (1) 3 (i)
91394393257,

Ao (i) 3 (iv)
91394393258,

Fad (ih), (i) 3T (iv)
91394393259,

(i), (iD), (iii) 3 (iv)
91394393260,

Question Number : 66 Question Id : 91394323751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following Ambedkar’s writings in the order in which they appeared :
(i) The Untouchables

(ii) Who Were the Shudras ?
(ili) Annihilation of Caste

(iv) The Buddha and hizs Dharma
Choose the correct answer from the code given bhelow :

Code :
Options:

(1a1), (i), (1), (iv)
91334593261,

(i), (1), (i), (i)
B1334593262.

(1), (1), (1ii), (iv)
91334593262,

(1), (111), (ii), (iv)
91334593264,

Question Number : 66 Question Id : 91394323751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

sz Fi Frefafaa et it 355 vmfie 89 % w9 °§ sgafer fifi
(i) T e

(i) TG IE ?

(iii) wffeerm #ie Fne

(iv) 3 9g s faw i

3 fow T e A @ S A g
C T
Options:

(iii), (ii), (1), (iv)
91334593261,

(1w ), (iid), (1), (1)
H1334593262.

(i), (1), (1ii), (iv)
913345393263,

(1), (111), (i), (iv)
91334593264,

Question Number : 67 Question Id : 91394323752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
M.N. Roy's Integral Scientific Humanism is also known as
Options:
Marxism

B1334593265.

91394393066, Orthedox Marxism

91394393067, Suentific Socialism

91394393265, eV Humanism

Question Number : 67 Question Id : 91394323752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UH.UH, 19 & gfed 9 aeaare it @9 feg =9 8 99 9w g 2

Options:

91334593265,



wfgard aradarg

H1334593266.
B1334593267.

Ad Hi-ddIg
913345393268,

Question Number : 68 Question Id : 91394323753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following features of Hegel's Theory of State are correct ?
(i)  State is a super-organism.
(ii) It is “The march of God on Earth”.
(iii) Itis an end in itself.

(iv) Itis unchecked by any moral law, for it itself is the creator of morality.
Choose the correct answer from the code given below :

Code :

Options:

Only (ii) and (iii)
91394392269,

Only (i) and (iv)
91294393270,

Only (ii), (iii) and (iv)
91942393271,

(1), (ii), (iii) and (iv)
Q1394392272

Question Number : 68 Question Id : 91394323753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafia o & vsg % an 4 dite & fagra & F-f gwand w@ 8 2

(i) U9 T HEEEAHE R |

(1) g “gedft gz B A & 7

(iii) Tg 1o g d "rex |

(iv) a7 e s gro Frafa =8 gta 2 waife a8 s Aawa & =g 2 |

fr= few e e § & @t s W g
C T
Options:
Fae (i) M (i)

H1334593269.



e (i) 3 (iv)
91394393270,

Fae (i), (iii) 3 (iv)
91394393271,

(1), (i), (iii) 3 (iv)
91394393272,

Question Number : 69 Question Id : 91394323754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements on Gramsei are correct 7
(i) The State cannot be understood without a thorough understanding of the Civil Society.

(ii) Civil Society is not the ensemble of organisms commonly called ‘Private’.
(iii) It is in the Civil Society that the struggle for hegemony takes place.

(iv) He derived the terms Civil Society and Political Society from Hegel.
Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (iv)
91294393273

Only (ii) and (iii)
91594393274

Only (i), (iii) and (iv)
21294293275,

(i), (ii), (iii) and (iv)
Q1394395276

Question Number : 69 Question Id : 91394323754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et F e § Prefefaa A s s et 8 2
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Options:



e (i) 3 (iv)
9139439327 3.

e (ii) 3 (iid)
91394393274,

¥ (i), (iii) 3 (iv)
91394393275,

(i), (iD), (iii) =M (iv)
91394393276,

Question Number : 70 Question Id : 91394323755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following features of Marx’'s dialectical materialism are correct ?

(i) All the mass phenomena of history are determined by economic conditions.
(ii) Production is the most important of all human activities.
(iii) Men in association produce more than men in isolation.

(iv) Religion is the opium of the people.
Choose the correct answer from the code given below :

Code :

Options:

Only (1) and (iv)
Q1394392277

Only (ii) and (iv)
21594393275,

Only (i), (ii) and (iii)
91594393279

(1), (ii), (iii) and (iv)
913942392280,

Question Number : 70 Question Id : 91394323755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % grgrene witfereRarg it Feafafs & & S fagwand ot 8 0
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Options:



e (i) 3 (iv)
91394393277,

e (ii) 3 (iv)
91394393278,

Fae (1), (ii) 3 (iii)
91394393279,

(1), (i), (iii) 3 (iv)
91394393280,

Question Number : 71 Question Id : 91394323756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements with regard to Almond’s characterisation of political
system are correct ?

(i) All political systems have political structures.

(ii)  All political systems do not perform the same functions.

(iii) All political systems are not multi-functional.

(iv) All political systems are mixed systems in the cultural sense.
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
21394293281,

Only (i) and (iv)
91394392282,

Only (ii) and (iv)
91394293283,

Only (iii) and (iv)
21394293284,

Question Number : 71 Question Id : 91394323756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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e (1), (ii) 3 (iii)
91394393281,

Fad (i) 3 (iv)
91394393282,

FAd (i) 3 (iv)
91394393283,

Fae (i) 3 (iv)
91394393284,

Question Number : 72 Question Id : 91394323757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
David Easton had identified four kinds of inputs in terms of demands. What are they ?

Options:

Allocation of goods and services, Regulation of behaviour, Participation in the economie

system, Communication and information
91334333285,

Regulation of behaviour, Participation in the political system, Allocation of goods and

services, Communication and information
Q1294393256

Communication and information, Participation in international system, Allocation of goods

and services, Regulation of behaviour
Q1294393257

Participation in social system, Allocation of goods and services, Communication and

information, Regulation of behaviour
291334333288,

Question Number : 72 Question Id : 91394323757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gferg deea 4 wint & ged & sl o =90 v i vewE i ot | wEE § 2

Options:

Feqal ot Ganadt o arraed, saaen & fafrmm, st syaey & wefter®, wmor ofit g=m
91394393285,
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91394393286
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Question Number : 73 Question Id : 91394323758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said, “A Government without a Constitution is a power without right” ?

Options:
91394393259, | nomas Paine
91394393290, Harl Deutsch
David Apter
91394393291
Walter Bagehot
91394393292,

Question Number : 73 Question Id : 91394323758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferem =g, “afaum & o ar sfyer e afs S aam 27 2

Options:

313343332893, ke
91394333290, ﬂég{g
91324293291, s =
91324393292, A e

Question Number : 74 Question Id : 91394323759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are correct ?
(i) Federal Councillors in Switzerland can be impeached.
(ii) Vice-President presides over the joint sessions of American Congress.
(iii) The President of India sent a message to Indian Parliament once.

(iv) The Prime Minister of Britain oversees the operation of the Civil
Services and Government Agencies.

Choose the correct answer from the code given below :
Code:

Options:



Only (i), (iii) and (iv)

913943332493,

Only (ii) and (iv)
913943933294,

Only (iii) and (iv)
215394233295,

Only (1) and (iii)
1594393296,

Question Number : 74 Question Id : 91394323759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiga & & ¥ Fm ad £ 7
(i) Teaewetve & hete FEger W waTiE e 5 Gl § |
(ii) it G % T Tl I AT J9-UgAlT Ft & |
(iii) WA = wegufe & widta Gug U 91 geE Y |
(iv) o= & wama ot fafere danatt oftt weerlt woifRat & seme 6t Foroeft et €

fre e e & & @ I w g
C T
Options:

Fae (1), (iii) 3 (iv)
91394393293,

Fae (i) 3 (iv)
91394393294,

Fae (iii) 3 (iv)
91394393295,

e (1) 3 (i)
91394393296,

Question Number : 75 Question Id : 91394323760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which principle was established for the first time by the US Supreme Court in deciding
McCulloch vs. Maryland Case ?

Options:

Equality among States
Q1394393297 q v 8

Equality between the Federal Government and States
2913342332938,



Supremacy of the States over the Federal Government
91394333299

Supremacy of the Federal Government over the States
91394293200,

Question Number : 75 Question Id : 91394323760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

feppatra wame itetve arg % Fofa & smferT ssam =mrer 3 geelt sm fem fagra & e 6 2
Options:

91334593257, bl

9139439309, T TN S T % Wt FwrT

Hefr v W Ut it Jewvedr
91394393299,

T ot o I o Iegsedn
91394393300,

Question Number : 76 Question Id : 91394323761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Powell, any nation’s political culture may be mapped at three levels. Identify
these levels.

Options:

The political system level, The le level, The process level
Q1594292201 po = Peop P

The le level, The process level, The policy level
Q1594392202 peop P Poley

The political system level, The process level, The policy level
Q13942392303 po = P POuey

The process level, The policy level, The power level
912943923204, P POty po

Question Number : 76 Question Id : 91394323761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qide & 31gan, fedt s & aortfas gopfn it d7 @t d s s o ® | 39 w9 6 vgEE
Hifor |

Options:



TratTeeR saw a1, ST St iR w6
91394393301,

ST &, wiswan s, Hifa =
91394393302,

Tratfeh saaee T, i &, Hifa =
91394393303,

afsrar e, Hife &, 7w =1
91394393304,

Question Number : 77 Question Id : 91394323762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lucian Pye had identified ‘Crises’ that new States in the Third World face in achieving
political development. Which one of the following groups is correct ?

Options:

Identity, Legitimacy, Penetration, Participation, Integration, Distribution
Q1294392205 W ~ pa

Identity, Penetration, Participation, Disintegration, Distribution, Economic instabili
Q1294392306 tjr P W

Penetration, Diffusion, Disintegration, Centralisation, Leadership, Governance
Q1294292307

Participation, Representation, Penetration, Integration, Legitimacy, Centralisation
Q15942922 08, pa P ~

Question Number : 77 Question Id : 91394323762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
dftra ord 3 39 Heel A v Hit fo el gfvn % s st & werftfoss e wifae w3 A
F e & | Fefafaa dd s e o adt 22

Options:

91394393305. "

91394393308, TV e, wferd, ferwes, faqon, snfef siferan

913345393207,

91394393308, ' , T, , e, 3



Question Number : 78 Question Id : 91394323763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Most legislatures today do not make laws, rather they formally approve laws
made elsewhere.

Reason (R) : Legislature is the law making body of the State.
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942933209,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294392210

(A) is true, but (R) is false.
H13345393511.

(A) is false, but (R) is true.
915942923212,

Question Number : 78 Question Id : 91394323763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
e AT F T I g |
g (A) : rorsha sttty faefiend s 7@ @, afes s a7 w1 sitwafes w9 &

A Fdt F |
o (R) : Taarfaem o= = fafy Feff fem 2

E:
Options:

(A) 3 (R) a9 (R), (A) i 98 samean |
91394393309, o = & A ¢

(A) 3 (R) g1 98t &, T (R), (A) i ot samean 76 # |
91394393310,

(A) TH B, (R)Teid 2 |
91394393311, g

(A) T B, (R)wet & 1
91394393312, A

Question Number : 79 Question Id : 91394323764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the two lists given below, List I provides the list of Proponents, while List II indicates
Concepts. Match the two lists and choose the correct answer from the code given below :

List I List I1

(Proponent) (Concept)
(a) S.P. Huntington (i) Associated-development-dependent
(b) R.A. Dahl (ii) Political simulation

() Kenneth Boulding  (iii) Political decay
(d) Fernando H. Cardoso (iv) Polyarchical democracy

Code :
Options:

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
913943933513,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91594293514,

(a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
91394393515,

(a)—(ii), (b)—(iv), (e)(iii), (d)—(i)
91394393316,

Question Number : 79 Question Id : 91394323764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 5t gfeat € w8 §, gt 1 sftrargs, sefe gt 119 saumomd § | 39 <41 gfaa +t gifea fifm
i A= fou e e 1w Fd g wE I g

g1 | 1T

(wftrares) (sreremoT)
(a) wad, #féea (i) et fem-ff
(b) HART, SEe (i) Trerftfas srgET

(¢) Y arFHatet (i) Traftfere T
(d)  HFSI T4, FSME  (iv) TgAATE dArhad

*e:
Options:

(a)iii), (b)—(iv), (e)ii), (d)—(i)
91394333313

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394393314,

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
913945333315,

(a)(ii), (b)—iv), (e)(iii), (d)—(i)
91594393516,



Question Number : 80 Question Id : 91394323765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Books, while List II indicates their
Authors. Match the two lists and choose the correct answer from the code given below :

List I List IT

(Books) (Authors)
(a) British Political Parties (i) Robert Michels
(b) Political Parties (ii) Robert Mckenzie

(e) Comparative Government : An Introduction (iii) James A. Bill and
Robert H. Hardgrave

(d) Comparative Policies : Quest for Theory (iv) Jean Blondel

Code :
Options:

(a)—{i), (b)—(iv), (e)—{iii), (d)—(ii)
91394333317,

(a)(iii), (b)(ii), (e)-(i), (d)—iv)
91234293518,

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
91394333319

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91394393320.

Question Number : 80 Question Id : 91394323765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr= gt gfeat € 78 §, gt 19 geass, wafe gt 11§ 399 oras § | 3 g1 gfaet =t gafae fifs
i = fau U Fe o w9 g wE I 9

g1 |t 1T

(g=) (vr@r=)
(a) fafem aifefera odfa (i) e fdew
(b) uiferfesrer ardfa (i) Tad Bfermsit

(¢) HEHfea TaAE : UH SgeHH (iii) o u, faer afh el vw, gEda
(d) Foffea vifafeTs . w9 R a (v) SH e

C T
Options:

(a)—i), (b)—(iv), (e)—(iii), (d)—(ii)
91334393317,

(a)(iii), (b)(ii), (e)-(i), (d)iv)
913943933518.

(a)—(ii), (b)iii), (e)iv), (d)—(i)
91234293219,



(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913342393520,

Question Number : 81 Question Id : 91394323766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Revolutions, while List IT indicates
Countries. Match the two lists and choose the correct answer from the code given below :

List 1 List IT

(Revolution) (Country)
(a) Velvet Revolution (i) Uzbekistan
(b) Orange Revolution (ii) Portugal

(e) Carnation Revolution (iii) Vietnam
(d) August Revolution (iv) Czechoslovakia

Code :
Options:

(a)—(i), (b)—(iii), (e)-{ii), (d)~(iv)
91594293521,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91334293522,

(a)—iii), (b)~(id), (e)—(i), (d)—iv)
912343393523,

(a)—(iv), (b)—(i), (e)-(ii), (d)—(iii)
91394393524,

Question Number : 81 Question Id : 91394323766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frr g gt € w8 &, it 1 shifa, i g 118 sg # | 39 S g o g hifs ot =
fau o e 1y wd g HE I g

et 1 Tt 11
(s5Tt) ()
(a) e Hfd (i) STAREETH
(b) Tt~ shifa (i) ‘J?f'“ﬂ
(¢) HITASH hife (i) Fraam
(d) ImTER wifer (iv) Sehreerrarfnan
C T
Options:
91394393321, (b)—(iid), (e)~(id), (d)—~(iv)

(a)—ii), (b)—(iv), (e)-iid), (d)—~1)
91534393522,



(a)—(iii), (b)(ii), (e)—(i), (d)—iv)
91394393323,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
913945333324,

Question Number : 82 Question Id : 91394323767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statement/s is/are correct with regard to theories of Elite ?
(i) James Burnham proposed the concept of ‘Circulation of elites’.

(ii) C. Wright Millg’ triumvirate power group consists of political, economic and
managerial classes.

(iii) G. Mosca emphasised on the personal characteristics of elite.
(iv) Elite theory supports pluralism.
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iv)
91394392325,

Only (iii)
91594393326,

Only (ii)
915924393327,

Only (iii) and (iv)
D1394395328.

Question Number : 82 Question Id : 91394323767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
#Hfirares % fagrat & gay o Frafafigs § & Sa/@ s= ad 28 2
) g e 7 “sfirereat <1 afmes i saumon 1 wfearga fear o )
(i) =, w3z firew % Bramasge o agg & vsHifas, snfdfe qur weud o f wfis 8
(iii) Sft. et F arfiraren &t safema fasarat o oaw R g
(iv) srf¥ares fagra ageaTg &1 gwefA &1 2 |
Hre feu T e & | W I H g
%He :
Options:

e (1), (i) 3 (iv)
91394393325,



Fa (iii)

91394393326,
Fa (i)
91394393327,
Fae (iii) 3 (iv)
91394393328,

Question Number : 83 Question Id : 91394323768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are correct ?
(i) American Senate has the power to amend revenue bills.
(ii) House of Representatives has special power to originate revenue bills.
(iii) In Britain, executive and legislature relationship is based on diffusion of powers.
(iv) American President can dissolve the House of Representatives.
Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91394393329

Only (ii) and (iv)
91394393230,

Only (i), (iii) and (iv)
913943922321,

Only (i) and (iii)
91394393332

Question Number : 83 Question Id : 91394323768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fefafar dd s s adt & 7
(i) s dedroE fdrsd o s S o g

(i) greg e fopmfesn o vora fadas weqa w0 &t fafime it 2
(iii) forest & swrefarferent qon faurft deaw witwat & s o smarfa 7
(iv) smafn 1 tgafa grem afe ool =t St ot 2 |

3 fe e g @ W R A
AN
Options:
e (i) 3 (i)

913345393329,



e (ii) 3 (iv)
91394393330,

Fae (1), (iii) 3 (iv)
91394393331,

A (i) 3 (i)
91394393332

Question Number : 84 Question Id : 91394323769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The essence of federalism lies not in the institutional or constitutional
structure but in the society itself.

Reason (R) : Coalition governments are the most suitable form of governments in a
heterogeneous society.

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
Q1394292235
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394392334,
(A) is true, but (R) is false.
91394392335,
(A) is falze, but (R) is true.
Q1394392336.

Question Number : 84 Question Id : 91394323769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3 for e B, T & o arfirme (A) ® i g@n a6 (R) @ | el i afen sfi e few o
Fe I T4 F T I g |

ST (A) : GIATE 1 TR GEATTd A1 Gurle go1 & 78 g wd o A 8 8 |

7% (R) : T@a9- Tl (4o ta gara § Hin 1 daiias 399 &9 8 |

% :

Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar g |
91394393333, T T e t

(A) 3ft (R) ST =@t €, T (R), (A) i Tt same 78 # |
91394393334,



(A) T& B, 9 (R) Terd & |
91394393335,

(A) T B, (R)T&E 2|
Q1394293350 "T{ﬁ

Question Number : 85 Question Id : 91394323770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Bill of Rights (first ten amendments) in America includes in it among others

Options:

Right to assembly, Right to bear arms, Right to speedy trial, Right to social security

913943093337, 2lowance

ight to ity, Right to life, Right to bly, Right to social ity all
91394393338 Rig security, Rig e, Rig assembly, Rig security allowance

Right to assembly, Right to bear arms, Right to speedy trial, Right to security against

91394393339, unreasonable searches

Right to bear arms, Right to freedom of speech, Right to equality, Right to social security

91394393340, 2lowance

Question Number : 85 Question Id : 91394323770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aitfiert # €t faret 1T Tgew (veet g9 weitA) § o ardl % wre-gny frefafae § @ S8 aftfam
87

Options:

Y F 1 AfGHR, W T5 T H AlGHR, Wiy 91 gAar w1 afuwn, amfis gen

9153394233357,

grea &1 Afen, Sftew 1 afiremr, T w1 afier, gt guan ww w s
91394393338

YT HA 1 ANYFR, T T8 FA H AGHR, M 98 gAarg F AUFR, I awdY & g

et &1 S
91394393339,

A T Al ATUHR, T TeAar 1 Afawn, gara # Afawr, arnfas e s & safren
91394393340

Question Number : 86 Question Id : 91394323771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lukes’ description of three forms of power does neot include

Options:

Decision-making
215942332341,

Thought control
F1394393342.

Capability enhancement
913943933345

Agenda setting
2153942332344

Question Number : 86 Question Id : 91394323771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

@ g aftfa wift & = w0t § frefafaa & @ o ofifaa 5@ 22

Options:

91394393341, Pt o

91394393342, s e

9139439332453, o A
wrfgt T w

91394393344,

Question Number : 87 Question Id : 91394323772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The primary agents of political socialisation are
Options:

Family and School
91334533345,

Family and Social class
91324593346,

School and Peer group
91394393547,

Peer group and Social class
913943933548,



Question Number : 87 Question Id : 91394323772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TeitTereh FoTeeRor 3 yqE iRl &

Options:

912334593245,

B91334593246.

913345393347,

91334593248,

Question Number : 88 Question Id : 91394323773 Question Type: MCQ Option Shuffling: Yes Display Question Number :

afan #fi faamem

afan #itt gmfas ot

feremrers off ooy g

auhel Tg I gt @

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Deseriptions of political development,
while List II indicates Scholars. Match the two lists and choose the correct answer from the
code given below :

List I

(Description of Political Development)

(a) Political Modernisation

(b) Building of Democracy

(¢) Operation of Nation State

(d) Administrative and Legal Development

Code :

Options:

91334593249,

2912334593250,

291594293551,

913345393352,

(a)—ii), (b)—(iv), (e)-iid), (d)—~1)

(a)—(ii), (b)—(i), (e)iv), (d)—(iii)

(a)—iv), (b)—(iD), (e)—(iil), (d)~(1)

(a)—(1), (b)—(iii), (e)—{ii), (d)~(iv)

List IT1

(Scholar)
(i) J. Ronald Pennock
(i) S.M. Lipset
(iii) Talcott Parsons
(iv) Edward A. Shils

Yes

Question Number : 88 Question Id : 91394323773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 5t gfeat € w8 §, g=ht 1% vorliferss faepra 1 avfs, stafe gt 110 fagm 2 1 9 <91 gfeet =t
grfera $ifor o 2 e 7 e 1 i Fd ge ad I gh

Tt el 11
(s Ferenra w6t =rois) (fagm)

(a) Tt smygfeem (i) W AT $Hih

(b) wirhad 1 Fmfo (i) wm.en, faae
(c) TS T=F &I F=Te (iii) ZTetehie qreg
(d) wemafyes qun faurh foem (iv) vead o fiea
% :

Options:

(a)(ii), (b)—iv), (e)(iii), (d)—(i)
91594393549,

(a)-ii), (b)—(i), (e)(iv), (d)(iii)
91394333350

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394393351,

(a)—(D), (b)—(iii), (e)-(ii), (d)—iv)
91234393552,

Question Number : 89 Question Id : 91394323774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the kinds of party systems described by Arendt Lijphart ?

Options:

Consensual party system, Conflictual party system and Accommodative party system
Q1594292353 = = =

Conflictual party system, Democratic party system and Accommodative party system
Q12943932354 = = =

Accommodative party system, Secular party system and Consensual party system
913942392355, = = =

Secular party system, Consensual party system and Democratic party system
Q91394292356 = = =

Question Number : 89 Question Id : 91394323774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafefaa & & S8 smtre foewé gro afifa gefta saaza & w8 2
Options:

1594395555 HEAld-979 Soilg sqaedl, HUYIiiel qofld sqaey] a4 AHEee qelld sqaedl



91394393354, il gefty qaE, Wit gl sqae g1 THESHYIE geg sqEen

AU SIS St sgaw, gdfaier ofta saaedT a9 Henfa-9-a gefla sgas
91394393355,

HHfYE TE SgaE, Henfd-a-4 ooy saaed a9 Alhdila® cotd saaed]
91394393356,

Question Number : 90 Question Id : 91394323775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are the variables of political culture suggested by S.E. Finer ?

Options:

Mature political culture, Devel litical culture and Secular political cultu
91394393357 repo culture, Developed po culture and Secular po culture

Develo litical culture, Low political culture and Democratic political culture
Q159423932358 ped po po po

Mature political culture, Sectarian political culture and Orthogenic political culture
91394293359,

Mature political culture, Develo litical culture and Low political culture
913942392360, po ped po po

Question Number : 90 Question Id : 91394323775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafias 4 @ ®h-8 vadifos gl & afadt i e go gem e # 2
Options:

91394393357, o !

91394393358, o

91394393359,

91394393360, o

Question Number : 91 Question Id : 91394323776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following described the nationalist movement before the arrival of
Mohandas Karamchand Gandhi as “a movement representing the classes” as opposed to the
masses 7

Options:

913943093361, °udith Brown

91394393362, Ravinder Kumar

91394393363, Michael Brecher

Bipin Chandra
91394293364,

Question Number : 91 Question Id : 91394323776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa 7 & feas wiegra g it 3 s & g wegard} sTarer 3R S % Iee,
“at fafimse 1 wfafafies e ae scte” & s o affa e 2 2

Options:

qfew e

21594293561,

i FA1
91394393362

qT3hel WA=
91394393363,

faf=
A1 29432923684, e

Question Number : 92 Question Id : 91394323777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following was notf a feature of the Government of India Act of 1919 ?

Options:

Bicameral Legislature at the Centre
Q1294292285

Legislative Assembly to have an elected majori
91394393366, v Jority

Legislative Council enabled to move resolutions on Budget
Q1394393367 dg



Communal representation extended to the Sikhs
91394333368,

Question Number : 92 Question Id : 91394323777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frferfiaa & @ +-dt 1919 = woa g sfufes 6 fagma 727 22

Options:
91394393365, ¥ 1 fewe
faam @ o Fraffea i
91394393366, T
feram wftag it a5 W Geheq it we &t sifiren feam mn
91394393367
91394393368. Rl 1 et Sfffere foa wran

Question Number : 93 Question Id : 91394323778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following statements :

(i) The Fundamental Rights constitute limitations upon State action, the
Directive Principles instruct the State to do certain things.

(ii) The Directive Principle are not enforceable in the courts.

(iii) If any law is made to implement any of the Directives mentioned in Part IV of the
Constitution, it would be immune from unconstitutionality on the ground of violation of
Fundamental Rights conferred by Articles 14 and 19.

(iv) The Directive Principles require to be implemented by legislation.
Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct
Q1=2942932Z849,

(ii) and (iv) are correct
Q1594393270

(iii) and (iv) are correct
Q1=294=29=2=271.

(1), (ii) and (iv) are correct
Q15943932372

Question Number : 93 Question Id : 91394323778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Frefefiga ot o famm $ifem

(i) iferer sfirm Tra & et =t Hifia w2, A By fagm o= = 3o s wE W
FA A E |

(i) Hfer Fréwe frgra =marert & vada adf € 1

(iii) afg wfeaam % wm v 4§ 3ga faredt Fdes firgia =6t @ % & foe =6 g a7 s &, @t
98 HTeq 14 3 19 g1 NSH o Afbwl % Ieerad & ran W Agdetfiwa & wfféa g

(iv) Frderh fagreat =t faam gra e e g 2

A e Mo e # @ 7 s H g

E:

Options:

91394393369, (i) 3R (i) et &

91394393370. (i) R (iv) TE &

91394393371 D) 3 (i) T &
(1), (ii) 3 (iv)

91394393372, o wl g

Question Number : 94 Question Id : 91394323779 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement/s about Fundamental Duties is/are not correct ?
(i) The Fundamental Duties are incorporated in Article 51A (Part IVA) of Constitution.

(ii) The Fundamental Duties were inserted in the Constitution by the
42”‘ Constitution Amendment Act, 1976.

(iii) The Fundamental Duties have to be fulfilled by every person living in India.

(iv) The eleventh Fundamental Duty was added by the
86™ Constitution Amendment Act, 2006.

Choose the correct answer from the code given below :

Code:
Options:

(i) and (ii) are not correct
A]13943923373,

(ii) and (iii) are not correct
Q13943923374

(iii) and (iv) are not correct
913943293375,

Yes



Only (iii) is not correct
91394333376,

Question Number : 94 Question Id : 91394323779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

tifers el & gaa 4 Frefafas 4 4 FR-908 = ot 78 272 2

(i) tferer Fedea wfaam & sgeag 51F (97 V) o wfee € |

(i) Hifern wdea 424 gfaam detas sfufam, 1976 gro dfeum & sfawnfs fre me d )
(iii) Hferh shdfea g d H a1t veds sl & @ w1 g

(iv) gt diferh wedeq 86d wfaum gy sifufmm, 2006 g sier mar &

fre e e & & @ I w g
C T

Options:

91394393373 ¥ R (i) W 7

91394393374 e (i) 7 T &

91394393375, W R (iv) 78 7 &

FaA (i
91394393376, i) e 7 &

Question Number : 95 Question Id : 91394323780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

By which Constitutional Amendment Act, was ‘Forest and Protection of Wild Animals’
shifted from State to Concurrent list ?

Options:

th e gn
91394393377 39" Constitutional Amendment

th L
91394393378, 10 Constitutional Amendment

at . .
91594393379, 417" Constitutional Amendment

nd L
91394393380, 12 Constitutional Amendment

Question Number : 95 Question Id : 91394323780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fer aifeafs g sifufm gro T7 9 9= et % g’ & 759 @ o anadt g § gen
TR ?

Options:

B13345393277. 3t

B133453935378. 40t

9133453935379, 4rt

B13345393580. 4zt

Question Number : 96 Question Id : 91394323781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By which amendment of the Constitution can the same person be appointed as Governor of
one or more States or Lt. Governor of the Union Territory ?
Options:

Fourth Amendment Act, 1955
Q1594392251

Fifth Amendment Act, 1955
Q1394392382

Sixth Amendment Act, 1956
91294393353,

Seventh Amendment Act, 1956
Q1594292354

Question Number : 96 Question Id : 91394323781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fera dfaam deitas g o &t =gl &t T 91w | st 1SSt w5 Usa9rE 91 @Y 799 Al o
-t Frges fofam s ekt 2 2

Options:

et gy Afufem, 1955
91394393381

Tigal giye sAfeafEm, 1955
91394393382,

@1 gyae sAfufEm, 1956
91394393383,



araal gaa= sfufEs, 1956
91394393384,

Question Number : 97 Question Id : 91394323782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Prime Ministers, while List II indicates
Governments. Match the two lists and choose the correct answer from the code given below :

List I List IT
(Prime Minister) (Government)
{a) Chandra Shekhar (i) United Front
(b) Deve Gowda (ii) National Democratic Alliance

(¢) Atal Bihari Vajpayee (iii) United Progressive Alliance
(d) Manmohan Singh  (iv) National Front
Code:

Options:

(a)—(iv), (b)-(ii), (e)—(i), (d)iii)
912394393585,

(a)—(iv), (b)—(i), (e)(ii), (d){iii)
91394333386,

(a)—(ii), (h)—(iii), (e)—(i), (d)—iv)
91394393387.

(a)—iii), (b)~iv), (e)i), (d)—(ii)
913943933588.

Question Number : 97 Question Id : 91394323782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= gt gfeat € w8 8, gt 18 wuma w66, safs gt 11 8w § | 39 g1 et it gafaa if

T I Tt 1L
(e w=t) (ETHm)
(a) 9 W (i) Hgw qr=t
(b) & Titer (i) Tta Skt TaA
(c) 37ee Torgrlt arort (iii) TF Wfesie TIaE
(d) wwire fig (iv) T A=t
C T
Options:

(a)—(iv), (b)(ii), (e)—(i), (d){iii)
91394333385,

(a)—{iv), (b)—(1), (e)—(ii), (d)—(iii)
91394393386,



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
915343393587,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234293588,

Question Number : 98 Question Id : 91394323783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following Speakers of the Lok Sabha in chronological order :
(i) Shivraj V. Patil
(ii) Somnath Chatterjee
(iii) Manohar Joshi
(iv) N. Sanjeeva Reddy
Choose the correct answer from the code given below :
Code :
Options:

(i), (111), (1), (1)
913345932389,

(1), (1), (1ii), (iv)
2912334593290,

(iii), (i1), (iv), (i)
91334593591,

(iw), (1), (iii), (i)
B913345393339%.

Question Number : 98 Question Id : 91394323783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e @ % Fr=fafaa steet 6t 37 FreswmaER sHafer fifm
()  frars &t ofea

(i) FrETY =el

(il)  wrEC St

(iv) U, daftar {52t

13 foe T e § @ T S R SR

&

Options:

(i), (111), (1), (1)
913345932389,

(1), (1), (1ii), (iv)
2912334593290,



(11i), (ii), (iv), (1)
91334593391,

(1w}, (1), (i), (11)
91334593392,

Question Number : 99 Question Id : 91394323784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following were the recommendations of the Sarkaria Commission about the
appointment of the Governor 7

(i) He should be eminent in some walk of life.
(ii) He should be a person from outside the State.

(iii) He should be a detached figure and not too intimately
connected with local politics of the State.

(iv) He should be a person who has not taken too great a part
in politics, in general, and in the recent past, in particular.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91394393393,

Only (i) and (iii)
91394293294,

Only (i), (iii) and (iv)
91394392395,

(1), (ii), (iii) and (iv)
91394393396,

Question Number : 99 Question Id : 91394323784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wsaarer it Frafes % amt & gefen smam 3 Prfafaa 4 @ S faefat 6 of 2
(i) =g wftaa % freft gt o wfafses g =few

(il) =% T=9 | 98l 1 =40 g1 91y |

(i) 9% deey safwh g =R ot ey 6 sl et & ufise
F & g T4 g =ifae |

(iv) 9% T a1 =afw g =fee faem amraan aerifa # fadmem
arferan it & aga Wi = forn &

= fou e e # & v I H g
&<

Options:



e (i) #H (i)

91394393393,

e (i) 3 (i)
91394393394,

FaE (1), (iii) 3 (iv)
91394393395,

(1), (i), (iii) 3 (iv)
91394393396,

Question Number : 100 Question Id : 91394323785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following statements regarding the duration of Panchayat :
(i)  The term of a Panchayat shall be for five years from the date of its being elected.
(ii) If it is dissolved earlier, then the elections must take place within six months of
its dissolution.
(iii) A Panchayat reconstituted after premature dissolution shall have a fresh term

of five years.

(iv) It shall not be necessary to hold elections if the remainder of the period is less than

six months.
Choose the correct answer from the code given below :
Code:
Options:
Only (i) is correct
91394293397,
Only (i) and (ii) are correct
91394293398,
Only (ii) and (iii) are correct
21394293299,
Only (ii) and (iv) are correct
91394293400,

Question Number : 100 Question Id : 91394323785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qEra # wgraty % ey # feafafas sei o famm A

(i) de=md d ggraty I Fatfag 29 i arfra @ ofe ot 7 6 8 =fae )

(i) afg = aet W1 & It ], 9 I 36 6 @ 6 9 e % i & 9 =ife

(iii) T & qd W g gver nfEa feredt durra w6t o it & ofe a9t s sefwe fen s |
(iv) afg fereft Tamr <t wgrafy @: wmg & &0 &t 2, 9 @ FOA AT TE 2 |

Fr= e o g2 § @ welt I g

%He :

Options:

Fa (i
91394393297, e

H1334593595. (0 3 i) 7 &

913345935399, (i) 3f (i) 7t &

2913345393400, e (i) 3 (i) Y &

Question Number : 101 Question Id : 91394323786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Article 1 described India as a “Union of States”.

Reason (R) : The term “Union of States” was used to curb sub-nationalism and
strengthening unity and integrity of the country.

Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394293401,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294392402

(A) is true, but (R) is false.
Q1=294=29=2402,

(A) is falze, but (R) is true.
Q1594292404

Question Number : 101 Question Id : 91394323786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |

HFT (A) : Agag 1 | 9T &t T % @’ % w9 A aftfa e o g

e (R) : “T=t 1 69 ieg 1 IUFIT IU-TregaTg it WiEAT H ga o 29 it vk o sr@vear it
ggg w o for faram o |

% :
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394393401 = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394393402,

(A) TE B, 7 (R) Terd & |
91394393403,

(A) T 2, (R)TE 2|
Q1394293404 m

Question Number : 102 Question Id : 91394323787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following has criticized the Supreme Court as a ‘deeply paradoxical
institution’ because it wields immense power with limited accountability ?

Options:

91394393405, Cranville Austin

91394393406, O 2mes Manor

Pratap B. Mehta
21394233407,

Niraja Gopal Jayal
Q1=29429=2408. ) pal Y

Question Number : 102 Question Id : 91394323787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiaa & @ fram s=aw e =t aoa swafis afwat i dfim Samed & s T
ferttermumargyl ey et I=IaH =TETEE 6t ATt 6 § 2

Options:

913345393405,



2915334233406, AR

9T =, Hee

21594293407,

2915342334085,

Question Number : 103 Question Id : 91394323788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which Article of the Constitution enjoins/bounds all authorities to act in the aid of the
Supreme Court of India ?

Options:

91394393409, ‘irficle 139

91394393410, ~rucle 141

91394393411, ‘rticle 144

91394393410, ‘rticle 142

Question Number : 103 Question Id : 91394323788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfqgm #1 F9-81 3=eg 98 e ¢ fh wft witrerr wia % s=m =mTeE 6t ger w01 2
Options:

Fg=eg 139

91334593405

Fgeoe 141

H91384593410

Fgeeg 144

91334593411

Fgeog 142

215394233412

Question Number : 104 Question Id : 91394323789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of names of Newspapers, while List I1
indicates Editors-in-Chief, as of July, 2018. Match the two lists and choose the correct
answer from the code given below :

List 1 List IT
(Name of Newspaper) (Editor-in-Chief)
(a) The Hindu (i) Jaideep Bose

(b) The Times of India (ii) Raj Kamal Jha

(¢) The Hindustan Times (iii) N. Rawvi

(d) The Indian Express (iv) Sukumar Ranganathan
Code:

Options:

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
913945333413

(a)(iii), (b)(ii), (e)—(iv), (d)—(1)
91394332414,

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
91394393415,

(a)—(ii), (b)), (e)(i), (d)-iv)
91234293416,

Question Number : 104 Question 1d : 91394323789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hr= 5t gfeat € w8 8, gt 1H guremoas & am, el get 13 e G9es @ (98, 2018 6
feufa argem) | 37 31 gfeai i gafaa $ifee i = fa 7o $e 1w w0 gu ad =t g9h

g1 | 1T
(T TR T AW) (951 HuEs)
(a) § fag. () R =

(b) €t 2rgem #T 3fean (ii) T o 3
(c) &t fergEam T (i) @,
(d) gt e vaasm (iv) HFAR 1A

e
Options:

(a)—(iv), (b)—(i), (e)(iii), (d)—(ii)
91334393413,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394393414,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394533415,

(a)—(ii), (b)), (e)~(1), (d)iv)
91594293416,



Question Number : 105 Question Id : 91394323790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following groups of States, did the BJP win all the Lok Sabha seats in the
16" Lok Sabha elections ?

Options:

Rajasthan, Delhi, Himachal Pradesh and Haryana
21594233417,

Gujarat, Delhi, Madhya Pradesh and Uttarakhand
9133942393418,

Rajasthan, Gujarat, Uttarakhand and Himachal Pradesh
Q1594292419

Uttarakhand, Himachal Pradesh, Delhi and Jharkhand
Q1294392420

Question Number : 105 Question Id : 91394323790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

w4t & Frefafiga aegl 4 @ Sh-ar wyg 2 faed 169 @ o g 3 wraa. 3 ot i S
off 2

Options:

91394393417 , T e 3

o, feeeft, wea wem it serEvs
91394393418

TSTEYT, T, Ieravs i famm=a wim
91394393419.

Ferave, fearae wew, foeeft ofit save
91394393420,

Question Number : 106 Question Id : 91394323791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Electoral Problems, while List 11
indicates Electoral Reforms. Match the two lists and choose the correct answer from the code
given below :

List 1 List IT
(Electoral Problem) (Electoral Reform)
(a) Fake registration of voters (i) Voting in phases
(b) Delay in counting of votes (ii) Raising the security deposit of candidates
(¢) Violence during elections  (iii) Electronic voting machines
(d) Excessive contestants (iv) Photo identity cards

Code :
Options:

(a)(i), (b)—(ii), (e)—{(iii), (d)—iv)
912394293421,

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394393422,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91394393423,

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
91394393424,

Question Number : 106 Question 1d : 91394323791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394393401 2D (b)), ()~(iil), (d)—iv)

91394393422, ) (b)—(id), (e)—(ii), (d)—(D)

91394393423 (a)(ii), (b)—(i), (e)iv), (d)—iii)

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
91394393424,



Question Number : 107 Question Id : 91394323792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : In India, democracy had already been granted by the elite, but the elite had
monopolized power for decades.

Reason (R) : The revolution is now passing through the polling booth.
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
291394293425,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594233426,

(A) is true, but (R) is false.
Q15394292427

(A) is false, but (R) is true.
Q15943923428

Question Number : 107 Question 1d : 91394323792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= 3t Fua fon o B, i & o arfirme (A) R 3t g@0 9% (R) 8 | Sl i afen sft e fem o
2 WA FHd I g |
e (A) - i # sif¥rarea ot g sihaa vedt € wer foem s g9t a1, wig sfiremer = 3 qut
@ Ik 9T UeRIferRR S4TE T@1 o |
7 (R) : 979 Shifd HagH g & A998 Bt 2 |
% :

Options:

(A) 3 (R) a9 (R), (A) i 98 samean |
91394393435, o = & A ¢

(A) 3 (R) 31 gt €, 7 (R), (A) 1 9t samem T § |
91394393426

(A) & 2, 9tg (R) Teid 2 |
Q12943292427

(A) TeTd &, 9 (R) T8 2 |
91394393428,

Question Number : 108 Question Id : 91394323793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following pairs is correctly matched ?
List I List I1

(a) Myron Weiner (i) The Third Democratic Upsurge

(b) Rajni Kothari  (ii) The Indian Paradox

(c) Suhas Palshikar (iii) The Congress System

(d) Yogendra Yadav (iv) Post-Congress Polity

Code:

Options:

(a)—iv), (b)id), (e)-(iil), (d)—~1)
91394393429,

(a)—iii), (b)—(ii), (e)—(i), (d)—liv)
91294293420,

(a)—(ii), (b)—(iii), (e)~iv), (d)—(i)
H91334593421.

(a)—ii), (b)—(iv), (e)—(iil), (d)~(1)
913342393432,

Question Number : 108 Question Id : 91394323793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 & s gw ad gafaa 2 2
el 1 | II
(a) AT aT§H (i) Tl SAeheifa ArET
(b) ToHt s (i) wredta fagean
(c) Gt FoHtHt (iii) FIH SqTET
(d) g3 91ge (iv) -G TeTaEdT

®:
Options:

(a)—{iv), (b)—(id), (e)—(iil), (d)~(1)
91394393429,

(a)—iii), (b)(id), (e)—(i), (d)—{iv)
91234293420,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
913945393431,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91334293432,

Question Number : 109 Question Id : 91394323794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Perspectives, while List I1 indicates
Criticisms of Indian Democracy. Match the two lists and choose the correct answer from the
code given below :

List I List IT
(Perspective) (Criticism of Indian Democracy)
(a) Hindu Nationalist (i) Very limited space for direct and
local democracy
(b) Gandhian (ii) Not succeeded in ensuring individual
dignity and freedom
(e) Marxist (iii) Imitation of western demoeracy

ignoring indigenous democratic traditions

(d) Liberal Democratic (iv) Sham because it perpetuates the powers and
privileges of the dominant interests

Code :
Options:

(a)(iii), (b)(ii), (e)-(i), (d)—iv)
912342934323,

(a)—{1), (b)—(iil), (e)—{iv), (d)—(ii)
91394333454

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394393435,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394533456,

Question Number : 109 Question Id : 91394323794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hre 5t gfeat € w8 8, gt 14 gfeestm, st gt 11§ wiedts S i sratan 8 |33 g1 giei
i gafaa Aifa ik A= fow T g 1w = g wd s ghc

g1 Eipll
(gfee=m) (umeefra wirehds & srTeraET)
(a) forg Tregardt () weag i vl wenda & fore agg Hifi v
(b) rieffare (i) Fafereh wfem ik e gfifvas +0 3 awea 7 gan
(c) WraHaTS! (iti) Tea Sedifaes ToerOa it FUa i gu TEH! i 1 SgH
(d) IEHaETE! Eiehdifaeh (iv) Teh Seiral & F4its T8 waraeme fdi 6t afwat ofit fesmfiemmt
I T 7@ B
C T
Options:

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394393433,

(a)—i), (b)—(iii), (e)—{iv), (d)—(ii)
91394533454,



(a)—(ii), (b)—(1), (e)—(iii), (d)—{iv)
Q15942392455

(a)—(ii1), (b)—(i), (e)—iv), (d)—(11)
91334593436,

Question Number : 110 Question Id : 91394323795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which was the first State in independent India where the government was formed after
engineering splits and defections ?

Options:

91394393437, LoV

91394393438, adras

91394393439, ndhra
Rajasthan

91394393440,

Question Number : 110 Question Id : 91394323795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LA WG 1 UHT Tget1 U= sA-a1 41 fagd dte-dte ol go-9gd = 91 90 a4t ?

Options:
915324393437, Elflg
91394393438, o
913943393439
91394293440,

Question Number : 111 Question Id : 91394323796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following said, “Like physics or chemistry, administration is governed by
principles” 7

Options:

91394393441, D White



H. Simon

91394393442
91394393443, Cullick
91394393444, UMK

Question Number : 111 Question Id : 91394323796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfafiga & @ forem a1, “itfadh @1 e 6 7 wanem ot fagrat @ mfim g 27 2
Options:
B, =gree
Q1294392447 «

91394393442 ™.

2912334593443,

291594293444,

Question Number : 112 Question Id : 91394323797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Henry Fayol mentioned the following functions of administration. Put them in correct order.
(i) Organising
(ii)  Planning
(iii) Command
(iv) Control

(v)  Coordination
Choose the correct answer from the code given below :
Code:

Options:

(1), (i), (iii), (iv), (v)
91334593445,

(i), (1), (iii), (w), (iv)
Q12943292446

(11, (i), (w), (iii), (iv)
Q15942392447



(ii), (i), (iw), (i), (v)
913943923448,

Question Number : 112 Question Id : 91394323797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

¥l i 3 e 3 Frefafias yel 1 Seora e # | 39 ad w E e |
(i) wfed w

(i) fErm

(i) 3

(iv) e

(v) HH=EH

Fr= fou M g A /@ T IW T

% :

Options:

(1), (i), (iii), (iv), (v)
91334593445,

(i), (1), (iii), (w), (iv)
Q12943292446

(11, (i), (w), (iii), (iv)
Q15942392447

(ii), (i), (iw), (iii), (wv)
Q91394393448

Question Number : 113 Question Id : 91394323798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are correct about development administration ?
(i) Itischange oriented.
(ii) Its objectives are simple.
(iii) It is dynamic and flexible.

(iv) It is concerned with new tasks.
Choose the correct answer from the code given bhelow :

Code :
Options:
(1), (ii), (iii) and (iv)
Q1594292449
Only (i), (iii) and (iv)
Q1294392450

Only (ii), (iii) and (iv)
91394293451,



Only (i), (ii) and (iv)
Q1594392452

Question Number : 113 Question Id : 91394323798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiga & & fawma wemes & day & S92 %9= 58 3 2
() e wfed 3t
(i) THF W& |
(iii) g 7o T Fen |
(iv) 9% ¢ Hral § Hafid & |

fr fou o e d @ vt 3w g
E :
Options:
(i), (iD), (i) 3 (iv)
91394393449,
Fad (1), (iil) 3 (iv)
91394393450,
A (i), (iii) 3 (iv)
91394393451
Fae (i), (i) 3 (iv)
91394393452,

Question Number : 114 Question 1d : 91394323799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List II and select the correct answer from the code given below :
List 1 List IT
(a) Elton Mayo (i) Classical Theory of Organisation
(b) Henry Fayol (ii) Secientific Management
(¢) Nicholas Henry (iii) Human Relations Theory
(d) F.W. Taylor (iv) New Public Management
Code:

Options:

(a)—(iii), (b)—(i), (e)—liv), (d)—(ii)
91594293453,

(a)—(1), (b)(iii), (e)—iv), (d)—(ii)
91334293454,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91234293455,



(a)(iii), (b)—(iv), (e)(il), (d)—(1)
912342393456,

Question Number : 114 Question Id : 91394323799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1% gy geit 1 firems fifom sit = g e 42 @ a8t a@ &1 =9= i
gt I

(a) Teed w4t (i) @TeA & e fagra

(b) &t wrATE (ii) F Hae

(c) Frefrerm &l (i) WG Hay fagra

(d) Uh.S6, T (iv) 79 @h Faud

®:
Options:

(a)—(iii), (b)—~(1), (e)—{iv), (d)—(ii)
913342393453,

(a)—(1), (b)(iii), (e)-{iv), (d)—(ii)
91234293454,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594293455,

(a)—(iii), (b)—(iv), (e)(il), (d)—i)
91334293456,

Question Number : 115 Question Id : 91394323800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 11 and select the correct answer from the code given below :
List 1 List IT
(a) Barnard (i) Delegation

(b) Fayol (ii) Principles of Management
(¢) Gullick (iii) The Funections of the Executive
(d) Terry (iv) Bases of Organisation
Code :
Options:
(a)—(iii), (b)—(id), (e)—(iv), (d)—(i)
91394293457,
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
91394293458,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
913342393459,



(a)—(ii), (b)—iv), (e)—(ii), (d)—(1)
913345393460,

Question Number : 115 Question Id : 91394323800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1% | g=t 1 % firem Aifom sit Fr= e e £ @ gt s & =97 Hifs
T I T

(a) T1E (i) T

(b) B (i) waea % fagra

(c) TIfeTh (iii) Rt < e

(d) & (iv) HTA & AR
E :
Options:
(a)—{iii), (b)—~(ii), (e)(iv), (d)—(1)
91394393457,
(a)—{ii), (b)—(iii), (e)~(iv), (d)—(i)
91394393458,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
91394393459,
(a)—{iD), (b)—(iv), (e)—(iil), (d)—(i)
91394393460,

Question Number : 116 Question Id : 91394323801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following considered the concept of delegation as a mere myth of
organisational (administrative) theory ?

Options:

91394393461, T olett

Te:
91394393482, i

Mooney
91334333463,

91394393464, Hlet

Question Number : 116 Question Id : 91394323801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Preafeafiaa & & frs garmte 1 sraumon it @raare (ynafi) fagma = fas ae a2 2
Options:

H1334593461.

21594293462,

91334593463,
9123345393464,

Question Number : 117 Question Id : 91394323802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafiaa 4 @ fofa @ 1 amag oifsa afea feam gfaarfea e 2
Options:

913345393465, w

Teed WAl
91394393466,

B123345393467. o

Ugas 98

91334593468

Question Number : 117 Question 1d : 91394323802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following gave the Bounded Rationality model of decision-making 7
Options:

91394393465, Herbert Simon

Elton Mayo
215394233466,

91394393467 D- Osborne

91394393455, raward Weidner



Question Number : 118 Question Id : 91394323803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is the goal of Scientific Management ?

Options:

Generating employment
91394393469,

Maximizing social welfare
91394393470,

Higher industrial efficiency
91394293471,
91594393472, Welfare of the workers

Question Number : 118 Question Id : 91394323803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frfeafas & & s dafs W F o g 2

Options:

s1394393455, T LT T
91394393470, TINH FeAT Ht SUHTH FA
91394393471 afteitfirs gt
9139439347, T B FeA

Question Number : 119 Question 1d : 91394323804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following types of bureaucracy is found in the colonial rule ?

Options:

Ruler-dominated bureaucracy
91394393473,

Ruling bureaucra
91394393474 & “

Caste bureaucracy
215394233475,



P -State bureaucra
91394393476, arty “

Question Number : 119 Question Id : 91394323804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fufyasht smas 4 frafefige & @ Steandt =0 s v 9@ s g 2

Options:

- Arhamal

215942934735,

ymEhr e

H91334593474.

e Freramdt

913345393475,

TA-T=9 HteRamdt

B913345393476.

Question Number : 120 Question Id : 91394323805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following said, “Bureaucracy is the price of parliamentary democracy” ?
Options:

Ramesay Muir
91324593477,

91394393478, 9 Laski

91394393479, ierpert Morrison

91394393430, T Marx

Question Number : 120 Question Id : 91394323805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freferfiga & & frmm e @ & “dudt w6t S Fwand 27 2

Options:

913345393477, L

=S, AT
91394393478,



Hife=
91394393479, L

UH, HTEH
91394393480, R

Question Number : 121 Question Id : 91394323806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Committees are helped by the CAG in exerciging legislative control
over the executive ?

(i) Estimates Committee
(ii) Public Accounts Committee
(iii) Business Advisory Committee

(iv) Committee on Government Assurances

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91294392451,

Only (ii) and (iv)
91594393452,

Only (i), (ii) and (iv)
91:94393453.

(1), (ii), (iii) and (iv)
Q1294292454

Question Number : 121 Question Id : 91394323806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wrfurferet o faurdt s + % o Freafafaa © @ shd afufa 6 g Fass aeemn
giteren (ot wsft.) grn St & 7

(i)  wreeher aftfa

(i) e o gl

(iii) <hrd T whafa

(iv) TRl avaraEt gadt afafe
= few e e & & ot I W g
% :

Options:

e (1) ¥ (i)
91394393451,



e (i) 3 (iv)
91394393482,

Fae (1), (i) 3 (iv)
91394393483,

(i), (iD), (i) 3 (iv)
91394395454,

Question Number : 122 Question 1d : 91394323807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following suggested the abolition of the office of the Comptroller and
Auditor-General of India ?
Options:

Paul Appleb
91394393485, ppieby

91394393456, D- Gorwala

91394393487, 0 vohra

91394393458, I

Question Number : 122 Question Id : 91394323807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFreferfiaa & & frma wma o Friwe ofit wareran witers & ug &t gumed w6 1 ggra G o 2
Options:

e Uaeret

913345393485,

.. TrErE
91394393486,

UL 9E

91334593457,

o=
Q1=29429=2485. =

Question Number : 123 Question Id : 91394323808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following countries can a person enter the public service at almost any level
and at almost any age ?



Options:

91334593459,

H9133453934350, UsA

91394393491 42

9133453934 3%2.

Question Number : 123 Question Id : 91394323808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafaa & & fem <o *i5 safe o dan & s foreft oft w0 w oft s feneft oft arg &
yferse &t Tt & 2

Options:
yArges fmen
913942934589,

T T ST
91394393490,

913345934591,
B123345934352.

Question Number : 124 Question Id : 91394323809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following factors hinder the observance of administrative ethics by the civil
servants ?

(i) Anonymity
(i)  Humbleness
(ili) Indifferentism

(iv)  Officiousness
Choose the correct answer from the code given below :
Code:

Options:

Only (ii) and (iv)
91394393493,

Only (iii) and (iv)
91394293494,



Only (ii) and (iii)
913943334395,

Only (ii), (iii) and (iv)
Q1294392496

Question Number : 124 Question 1d : 91394323809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frfafaa 8 & F9-8 e @i damt gro yemates s & oem § s 8 2
(i) e

(i)

(iti) I

(iv) Fufraaasa (sEfeer)

fr= few e e § | wdt I W g

C T

Options:

FAd (i) 3 (iv)
91394393493

FA (iii) 3 (iv)
91394393494,

e (i) ¥ (iid)
91394393495,

Fad (iD), (i) 3 (iv)
Q1394293496

Question Number : 125 Question Id : 91394323810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following committees was appointed on ‘Revitalisation of Panchayati Raj
Institutions for Democracy and Development’ ?

Options:

91394393497 DBalwant Rai Mehta Committee

91594393493, Ashok Mehta Committee

4132943293499, G.V.K. Rao Committee

L.M. Singhvi Committee
291394293500,



Question Number : 125 Question Id : 91394323810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Arehaa 3t fawrm % for demadt U9 geurl % greg % dev | Frafafas 4 @ fen afufa i fagw
Fepar T o 7
Options:

aotad g Hgan afuf
91394393497

HTh Hgar afufa
91394393498,

913345934545, WA, =

. foaet wfafa
91394393500,

Question Number : 126 Question Id : 91394323811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which Committee recommended “United Grading Structure” for the British Civil Service ?
Options:
Maste:
91394393501, rman

91394393502, | wten

91394393503, rsheten

91394393504 MeCraw

Question Number : 126 Question Id : 91394323811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fufen fofae afda & foe “gfieme #fén o’ 6t s fem afufa 3
& 7

Options:

2915334233501,

91394393502, °C

91334593503,



2915334233504,

Question Number : 127 Question Id : 91394323812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following countries have dual citizenship — National citizenship and State
citizenship ?

Options:

91394393505, |ndia and USA.
91394393506, India and Switzerland
91394393507, witzerland and US.A.
91394393508, U ovand UK

Question Number : 127 Question Id : 91394323812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freferfiga o & fofm 231 =t Siedt ATfiwar wca & — Tt Aol sff o AoTfwa 2

Options:

e 3 4,03
91394393505,

Wi ot feaganets
91394393506,

fergee sit g um.u,
91394393507

ug.u, 3 g%,

91394393508, b *

Question Number : 128 Question Id : 91394323813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : An Election Commissioner cannot be removed from office except on the
recommendation of the Chief Election Commissioner of India.

Reason (R) : He/She is appointed on the recommendation of the Chief Election
Commissioner.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394293509,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294392510

(A) is true, but (R) is false.
H913345393511.

(A) is falze, but (R) is true.
91394292512,

Question Number : 128 Question Id : 91394323813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
e AT F T I g |

sfire (A) - WA % qe Frafem smge 6t s & fom foet frafam amge =t we & 7@ gern =0
el |

7% (R) : 38 g Fafam sy 1 fawfen w fges e sman 21

C T

Options:

(A) 3T (R) 4T (R), (A) i T8t =T & |
Q1=394=2935049, fl’ﬁﬂ'lﬁﬁ Hﬁ %

(A) 3 (R) g1 @&t &, 9 (R), (A) i Gt =arem 76 § |
91394393510,

(A) TH B, (R) Terd & |
A1=394=293511. m

(A) Ted B, (R) W&t & |
Q1294293512 e

Question Number : 129 Question Id : 91394323814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : The salary and conditions of service of the Comptroller and Auditor-General
of India cannot be varied to his’her disadvantages after his’her appointment.

Reason (R) : The office of the CAG is a constitutional office.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394293513,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
291594293514,

(A) is true, but (R) is false.
913494292515

(A) is falzse, but (R) is true.
Q12942392516

Question Number : 129 Question 1d : 91394323814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= 3w fon o B, i & o i (A) R 3 g@0 96 (R) 8 | Sl i afen sft e few o
e &1 T4 F T I g |
HFeT (A) - WA % P aft wereran wltes % 39 ot da1 wdl & 3t Frafe & awa <
afterd= & feram = wehan |

7% (R) : freaes aft wereran sl 1 vg us gauifs vg 2 |
% :
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394393513, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394393514,

(A) Tt B, (R) Tefd & |
91394393515, h

(A) T 8, 9O (R) &&l 2 |
91394393516,
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Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Approaches, while List IT indicates
Characteristics. Match the two lists and choose the correct answer from the code given
below :

List 1 List 1T
(Approach) (Characteristic)
(a) Ecological (i) Legal-Rational
(b) Decision-making (ii) Negative Feedback
(¢) Bureaucratic (iii) Agraria-Industria
(d) General systems  (iv) Fact-value proposition
Code :
Options:
(a)—iv), (b)—id), (e)-{iil), (d)—~(1)
91394293517,
(a)—(iii), (b)—(iv), (e)(i), (d)—(ii)
291394293518,
(a)—iii), (b)~(1), (e)—(iv), (d)—(ii)
91594393519,
(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
913942933520,

Question Number : 130 Question Id : 91394323815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hr= 5t gfeat € w8 8, gt 16 Surm, st gt 11 3 fagwar @ 1 59 1 gfeat 6t gafaa $if sk
Frr fam e e 1 TET Fd g HE I H g

et Tt 11
(Furma) (Fergraam)

(a) wrffeufad (i) ferferep-wehei
(b) Tmfa-fmfor (i) TeRmTeHS wfaay
() tertamat (iii) smrfen-gefemn

(d) | SR (iv) 74-H9 9 (Proposition)

®e:
Options:

(a)—(iv), (b)(ii), (e)-(iii), (d)—(1)
91334393517.

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394393518,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
913945333519

(a)—(ii), (b)), (e)~(1), (d)iv)
915942393520,



Question Number : 131 Question Id : 91394323816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following was the first thinker to use the term ‘superpower’ ?

Options:

Hans .J. Morgenthau
91394393521
91394393520, '/ iam Fox
91394393503, -H- Carr
91394393504 Hobert Cox

Question Number : 131 Question Id : 91394323816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga # & fem faass 3 advym wemfs (guwarat)’ weg st 3ggmm foem o1 2

Options:

&4 W, gi-ars
91394293521,
291394293522,

T, I
91394293523, ﬁ!ﬁ
91394293524, i

Question Number : 132 Question 1d : 91394323817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements is not correct 7

Options:

Idealist approach stresses the role of moral values.
91394393525,

Idealism is essentially a variant of liberal internationalism.
91394393526,

Idealist approach aims at reforming international system through international law.
B13345393527.



91394393508 Idealism is coextensive with liberalism.

Question Number : 132 Question Id : 91394323817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafas & @ sh-m sy adt a8 2 2
Options:

91294393505, T 3 3 A st B fern WA o @ o

Hregrare Afarda: Frairsdtaarg 1 Uk ufadl 2 |
91394393526, s A ¢

91394393527, Y ST A FAUL F GRSl St § gan R |

FTgIaTE, IGHATS i Ha-faega 7
91394393528,

Question Number : 133 Question Id : 91394323818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following developments in chronological order :
(i)  Nuremberg and Tokyo trials

(ii) Gorbachev’s appointment as Secretary General of CPSU
(iii) Islamic Revolution in Iran

(iv) CSCE meeting for formally ending the Cold War
Choose the correct answer from the code given below :

Code :
Options:
(1), (i), (i), (iv)
91394293529,
(iii), (i), (iv), (i)
21394293530,
(i), (iw), (i), (iii)
915943935351,
(1w}, (L), (i1}, (i1)
91394293532,

Question Number : 133 Question 1d : 91394323818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafeafiaa weargat =t wewa § syaftm $Fifsw
(i) =gwer o St g
(ii) et &t @6t em. g, w1 gemfea By R s

(iii) $ & grandt swifa
(iv) sftg=nfes w9 @ e g & gwifta 2g @oowdt 5. 6 9o+
fr= e 2 # & @ I H g
%He :
Options:
(i), (iii), (i), (iv)
91394393529,
(iid), (i), (iv), (i)
91394393530.
(i), (iv), (1), (iii)
91394393531.
(iv), (i), (iid), (ii)
91394393532,

Question Number : 134 Question Id : 91394323819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List I with List 1T and choose the correct answer from the code given below :

ListI List I1
(a) The Twenty Years Crizsis, 1919 — 39 (i) Karl Deutsch
(b) The Analysis of International Relations (ii) Kwame Nkrumah
(¢) Imperialism : A Study (iii) E.H. Carr
(d) Neo-Colonialism : The Last Stage of Imperialism (iv) J.A. Hobson
Code :
Options:
(a)—(iii), (b)—(i), (e)-(iv), (d)—(ii)
2153943335535,
(a)—(i), (h)—(ii), (e)—(iii), (d)—(iv)
21594233554,
(a)—(iv), (b)—(iil), (e)—(ii), (d)—(i)
913943935355,
(a)(ii), (b)—(iv), (e)—(iii), (d)—(1)
3139439335356,

Question Number : 134 Question 1d : 91394323819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 11 & gofea i ait Fi= G e % @ adt 3w+ 9f .

T 1 ¥ 11
(a) g Za-41 $d wrsfirm, 1919 - 39 (i) el s
(b) & TSR 3% ety ford (ii) =T THEHT
(c) gefifrefersn - v wedt (iii) §.79. 91
(d) Faeit-Fiefrefersy : g o @9 e sefifiefersn (iv) 3o, gemm
&
Options:

(a)(iii), (b)—(i), (e)(iv), (d)(ii)
91394333533

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394393534,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91294293535,

(a)—(ii), (b)—(iv), (e)(iii), (d)—(i)
91594393536,

Question Number : 135 Question Id : 91394323820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is not correct about US policy of containment ?

Options:

The policy aimed at containing Soviet influence.
291394293537,

The US used foreign aid as an instrument of containment.
215394233558,

The policy was meant for countering Soviet influence in Eastern Europe only.
9139432923539, Poley g pe v

Diplomacy and military intervention were also used for the purpose of containment.
Q913942923540 P ad P

Question Number : 135 Question 1d : 91394323820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frfafiga d & F-o1 597 fem 6 ame 6 Hifa 5 ge9g § o8 78
27
Options:

215394293557, A 1w - s



91394393558, arife 3 faeht waren &1 I9E gy % GreE % w9 F R

61394393559, v fifs %1 Tiva Fae oo g9 § Gifra e @ A @

913294293540 W%Emﬁmﬁwmhmmﬂﬁmmml

Question Number : 136 Question Id : 91394323821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said that theories should be judged “not by some pre-occupied abstract principle or
concept unrelated to reality. Its purpose is to bring order and meaning to a mass
phenomena” 7

Options:

91394393541 -H- Carr

Hans J. Morgenthau
21594233542,

Stephen Krasner
91394393543,

91394393544 Renneth Waltz

Question Number : 136 Question Id : 91394323821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7z formra o @ for et forgra we foram “Forelt Tt qd-fafoa qate g sreran sraamoon % smam
T &l e wfen Foroe areafasar & w1 ga9g 7 8 | 3o 32y et amfess gragen # syaen
AW FA 941 I8 37 wgE w2

Options:

=, ST
2915394233541, i

B . "itaTS
91394393542,

9153342335435,

Y Feed
91394393544,

Question Number : 137 Question Id : 91394323822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Treaties, while List II indicates
Years. Match the two lists and choose the correct answer from the code given below :

List 1 List IT

(Treaties) (Year)
(a) Comprehensive Test-Ban Treaty (CTBT) (i) 2002
(b) Anti-Ballistic Missile (ABM) Treaty (i) 1991

(c) Strategic Arms Reduction Treaty — I (START - I) (iii) 1972
(d) Strategic Offensive Reduction Treaty (SORT) (iv) 1996
Code :

Options:

(a)—(D), (b)—(ii), (e)-(iv), (d)iii)
91394533545,

(a)(ii), (b)—(iv), (e)-(iii), (d)—(1)
91394333546,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394393547,

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394393548,

Question Number : 137 Question 1d : 91394323822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 3 aferat § f &, w14 |, vafE g 14 § ) A gl B gifae Bifv i
faw e e =1 Wi Fd gu w3 w g

T 1 Tt 0
(dfer) (=)

(a) =419 red olteror wfaey g@fa (#8848 (0 2002
(b) werares eft foramge (waftum.) wfa (ii) 1991
(¢) amafes efrm s afr -1 (werd -1) (i) 1972
(d) Hmafh ATshme BRIt | (§)  (iv) 1996

*e:
Options:

(a)—i), (b)—(ii), (e)(iv), (d)(iii)
91394333545,

(a)—ii), (b)—(iv), (e)—(iil), (d)~(1)
91394393546,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234293547,

(a)—iii), (b)~(iv), (e)(i), (d)—(ii)
91394393548,



Question Number : 138 Question Id : 91394323823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements is not correct about pre-emptive strategy ?

Options:

The strategy was designed to prevent war.
Q1394393549 SIE P

The strategy related to threats from rogue regimes.
Q1=294=29=3550, gt

The strategy approved attack before a potential ssor gets too strong.
9139423923551 PP po aggre 8 8

The strategy was in tune with UN Charter.
291394293552,

Question Number : 138 Question Id : 91394323823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fifergd (fi-umfea) wrftfa o et & Frafafias 4 @ F@ Fom aft 7@ & 2
Options:

78 wrtf qg et % forg dame 6t 7§ ot |
91394393549

7 it gef-vmea @ firer areft aweht @ gafiq @
91394393550,

91394393551 T fopelt wfera Sshrreh % aerad &9 A I AH AT A Fdt R |

91334593552, T Hﬂ?ﬁﬁﬁﬁ'{%ﬂaﬁq% |

Question Number : 139 Question Id : 91394323824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following countries did not witness political violence in the aftermath of Arab
Spring, 2011 ?
Options:

91394393553, L unisia

Egypt
91334593554, EYP

Libya
91394293555,



91394393556, Saudi Arabia

Question Number : 139 Question Id : 91394323824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prferfiaa 3 & S-a o awa B 2011 % vwerg warfifoss feam o aneft 98 @ 2
Options:

SR

291594293555,

9153394233554,

913345393555,

qaHel A
9153394233556,

Question Number : 140 Question Id : 91394323825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is correct about the role of UN in the Syrian Civil War ?

Options:

UN intervened in Syria in 2011 following Arab Spring.
91394293557,

UN intervened again in 2003 following Hezbollah support for the Syrian army.
G9]139439355E, a8 g ppo Y v

After Sarin nerve gas attack in Damaseus in 2013, UN voted for eliminating chemical

Weapons.
91334593559, po

UN wanted Syria's stockpile of chemical weapons eliminated but fixed no time limit for

91394393560, Clmination.

Question Number : 140 Question Id : 91394323825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
diferd fifae 9g 3 g9 g A e % dav § Fefafag dd Sm s ad 22
Options:
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91394393553, } BT % fore Foreteme % wwe % e HI T @9 3 2003 F 9. waa
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g feorm o |
91394393559,

e g | i ¥ warafie gl % wEit F T w5 S a1 W 3@ T w0 e

guy ot 9 F85 & g |
91394393560, R

Question Number : 141 Question Id : 91394323826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said that “We must deal wisely with the world's largest democracy ... We need to work
harder and more conzistently to assist India ... while not neglecting our friends in Pakistan™?
Options:

91394393561, Vicholas Burns

91394393560, Colin Powell

41394393563 David C. Mulford

Henry Kissinger
91394293564, v g

Question Number : 141 Question Id : 91394323826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feret e o6 “a fava & gant 92 Sieda % @ afgeen @ Yw e wifze ... 6 R w6 weEm A
& foru w1 afium a0 &9 & 0 A savada & .. gl 89 qifRsa 8 79w firt i st oft T8
w27

Options:

H13345393561. b

21594293562,

2153394233563, .

ferftm
91394393564, &

Question Number : 142 Question Id : 91394323827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
When did P.V. Narashima Rao unveil the ‘Look East Policy’ ?

Options:

In Singapore, through his lecture in September 1994
91394293565,

In January 1992, when India became sectoral dialogue partner of ASEAN
21394293566,

In 1995, on the occasion of India’s elevation as ‘full dialogue partner’ of ASEAN
91394293567,

Through MEA Annual Report for the year 1995 — 96
913942933568,

Question Number : 142 Question 1d : 91394323827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
dt. <t g e T g $ie viferdl St ggelt aW %a weqa R 2

Options:

fereeart, 1994 & 3 samEaT gro g &
91394393565, o

Fatt, 1992 # w9 Wi A 1 8= gt wrfien =90
91394393566,

1995 ® snferam % “qul arat wrfierd o &9 8 ¥R & T S g4 % AT W
91394393567,

91394393568, % 1995 — 96 % fore farcwr arera & anfifp o % weam @

Question Number : 143 Question Id : 91394323828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who of the following considers self-defence, enforcing of rights, seeking reparations for
injury and punishing wrong-doer, as the causes for a just war ?
Options:

91594393569, M. Koskenniemi

Hugo Grotius
91394293570,

C. Gray
9139433357 1.

91394393570, 9 G- Starke



Question Number : 143 Question Id : 91394323828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prferfiga 9 @ foree wawam, sifusd % vad=, afa % foe gamasn wim qo 1o w6 are #i gre
& <t =amEifed gg & Hrw A g 2

Options:

UH, hieehfaHt
91594293569,

URLAEE
91294393570
9194393571, @2
91594393572 .58

Question Number : 144 Question 1d : 91394323829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Following India’s nuclear explozions at Pokhran in 1998, which of the following were the
responses ?

(i) The US condemned nuclear tests of both India and Pakistan.
(ii) UN Security Council passed resolution condemning nuclear explozions.
(iii) The US and its strategic allies imposed economic sanctions on India.

(iv) Following US pressures India consented to sign NPT.
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iv)
91394393573,

Only (i) and (ii)
91394293574,

Only (i), (i) and (iii)
291394293575,

Only (i), (iii) and (iv)
21394293576,

Question Number : 144 Question Id : 91394323829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

e (1), (i) #HH (iv)
9139439357 3.

e (1) ¥ (i)
91394393574,

Fa (1), (i) 3 (did)
91394393575,

Fad (1), (i) 3 (iv)
91394393576,

Question Number : 145 Question Id : 91394323830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a part of the Millennium Development Goals approved by
UN General Assembly in 2000 ?

Options:

Eradicating extreme poverty and hunger
Q1394393577 g poverty g

Achieving universal primary education
Q139439357 E, 8 P

Sharing of 2% of GDP by rich countries for developmental aid
291334233573,

Ensuring environment sustainability
913942933580,

Question Number : 145 Question 1d : 91394323830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freferfiaa & & a1 2000 # Fgw Tsg weras R0 AT geefe; fawra wet & w9 @1 2
Options:

Feafes Tt 3t @ w3
91394393577, B



2915334233575, R 4 safes

fererraTen=: ggA + ¥
91394393579 fere wg TSt gTU Hehed WRE IO % 2% W H AEH

watarita sargvita giifrea s
91394393580

Question Number : 146 Question Id : 91394323831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following Prime Ministers propounded the notion of ‘genuine
non-alignment’ ?

Options:

Morarji Desai
91334333551,

91304353582, Jawaharlal Nehru

91394393553, L2l Bahadur Shastri

Inder Kumar Gujral
9133942335584,

Question Number : 146 Question Id : 91394323831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

et 2ETs
91394393581,

B13345393582. e

T TETgL et
91394393583

TG A T[T
91334593554,

Question Number : 147 Question 1d : 91394323832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In January 2002, which of the following countries were described as ‘axis of evil’ by the
US President ?



Options:

Iran, Libya, North Korea
91594293555,

North Korea, Iran, Iraq
91Z94393556.

North Korea, Afghanistan, Syria
Q1594292557

Syria, Iran, Iragq
91294393555,

Question Number : 147 Question Id : 91394323832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sadt, 2002 4, Fefafia & @ fe 9 =t amfe wgefa g geem i g’ & =9 4 aftfa fen
T a1 ?

Options:

i, ofifemn, 3o Fifen
91394393585,

It =ifEn, s, 3o
91394393586, =

et =i, srwmieam, difan
91394393587,

Hifen, 31, 306
91394393588, "

Question Number : 148 Question 1d : 91394323833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
When were post-Pokhran II sanctions imposed on India lifted by the US 7

Options:

In the wake of 9/11 in October, 2001
Q1594292559

At the time of US attack on Iraq in March, 2003
91294393590,

On the eve of inauguration of Bush in the second-term in January, 2005
215394233591,

In September, 2005 during 60" UN General Assembly meet
91394293592,

Question Number : 148 Question Id : 91394323833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

YA W IR 11 % J90d @ e gfa=di it AHfe 4 %= geran 91 2
Options:

Fagat, 2001 § 9/11 79 & 91g
91394393589,

A1, 2003 # sfER & a9
91394393590, o fohe T 0 el

Fatl, 2005 H W9 % 6L HAHE & YW HI Td G W
91394393591 S kS

60T & HETEYT i dEh & ferawa, 2005 ®
913943293592, I T e

Question Number : 149 Question Id : 91394323834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who was Chairman of the UN Committee, meant for inspecting places in Iraq for finding
nuclear weapons during Saddam Hussein’s regime ?

Options:

91394393593, M-J- Miller

91394393594 Hans Blix

91394393595, Mehamad Mahathir

91394393508, - Bouazi

Question Number : 149 Question Id : 91394323834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HETH g o WTHAHTE o S0 Y] 2T o 91 @ o fo s % vl i wie w0 % fo
aT$ M8 Ty Usg whufa w1 avrafa i w0

Options:

w3, firew
91394393593,

&0 feerem
91394393594,

HiErTg HETfe

91334593555,



un, atanfafy
91394393596,

Question Number : 150 Question Id : 91394323835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements iz not correct ?

Options:

Following horrors of the First World War, liberal internationalists sought to end war.
91394293597,

They held that right to self-determination and statehood was impermiszible.
215394233595,

They were convinced that system of balance of power would give way to collective security.
Q1=29429=3599, Y = po b ¥ v

They also held that diplomacy would be replaced by consent.
913942933600,

Question Number : 150 Question Id : 91394323835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

feffanda shm s adt adf 2 7
Options:

91294293597 mm%%m#mmmﬁ%ﬂmﬁﬂmﬁml

et famm o For arrenfiofa qan o3 1 g9t v @ At sufa 8 § o awdt |
91394393598,

91394393509, 0 @ ot o6 e Hger & arfes g &1 e e g o

e g Wt favama o 6 geifa it adamfa gro et fen smom
91394393600,



